

### Quiz 7

May. 16, 2007

Given that

$$\mathbf{r}(t) = \langle t^3 - t, 0, e^{3t} \rangle,$$

calculate

- (5 pts)

$$\lim_{t \rightarrow 0} \mathbf{r}(t) = ?$$

$$\begin{aligned} \lim_{t \rightarrow 0} \vec{r}(t) &= \langle \lim_{t \rightarrow 0} (t^3 - t), \lim_{t \rightarrow 0} 0, \lim_{t \rightarrow 0} e^{3t} \rangle \\ &= \langle 0, 0, e^0 \rangle \\ &= \langle 0, 0, 1 \rangle \end{aligned}$$

- (5 pts)

$$\frac{d}{dt} \mathbf{r}(t) = ?$$

$$\begin{aligned} \frac{d}{dt} \vec{r}(t) &= \langle \frac{d}{dt} (t^3 - t), \frac{d}{dt} 0, \frac{d}{dt} e^{3t} \rangle \\ &= \langle 3t^2 - 1, 0, 3e^{3t} \rangle \end{aligned}$$

- (5 pts)

$$\int \mathbf{r}(t) dt = ?$$

$$\begin{aligned} \int \vec{r}(t) dt &= \langle \int t^3 - t dt, \int 0 dt, \int e^{3t} dt \rangle \\ &= \langle \frac{1}{4}t^4 - \frac{1}{2}t^2 + c_1, c_2, \frac{1}{3}e^{3t} + c_3 \rangle \\ \text{or} &= \langle \frac{1}{4}t^4 - \frac{1}{2}t^2, 0, \frac{1}{3}e^{3t} \rangle + \vec{c} \quad \# \end{aligned}$$

- (5 pts)

$$\int_0^1 \mathbf{r}(t) dt = ?$$

$$\begin{aligned} \int_0^1 \vec{r}(t) dt &= \langle \int_0^1 t^3 - t dt, \int_0^1 0 dt, \int_0^1 e^{3t} dt \rangle \\ &= \langle \frac{1}{4}t^4 - \frac{1}{2}t^2 \Big|_0^1, 0 \Big|_0^1, \frac{1}{3}e^{3t} \Big|_0^1 \rangle \\ &= \langle -\frac{1}{2}, 0, \frac{1}{3}e^3 - \frac{1}{3} \rangle \quad \# \end{aligned}$$